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T 4 QI 130 5 18HEMN QEEMN S 130 5 9N D
12 E T 17THFE T 21HFFE T 17THFE T 2105F T 21FFE T
H—2 L2501 & & & " & &
5, 800 7, 200 5, 800 13, 000 13, 000 18, 000
G 502 3, 200 4,000 3, 200 7, 000 7, 000 10, 000
® E Ay 1, 900 3, 400 1, 900 5, 300 5, 300 7, 300
® &F #H 4, 600 6, 200 4, 600 11, 000 11, 000 15, 400
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N EERE v 2 —
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i B 4| 9D L3N D 18NN D 9REMN D L3NG IREN D
120 T 17TRFET | 21FFE T I7TReET | 21FET | 21FET

FHMEL 1,300Fq 1,800Fq 1,300Pq 3, 300Pq 3, 300Fq 4, 60qu
IFi] 2 1, 300 1, 800 1, 300 3, 300 3,300 4, 600
= =1 1, 400 1, 900 1, 400 3, 500 3,500 5,000
[ 2 1, 300 1, 800 1, 300 3,300 3,300 4, 600
o= 1 400 650 400 1, 100 1, 100 1, 500
IFi] 2 400 650 400 1, 100 1, 100 1, 500
== 1TA1E 200/
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MR A | 9N 13K 187 6 9IFN D 13K 9EEND
12RFE T 17TRFE T | 21BFE T I7TRFET | 2IFET | 21RFET

FRMA—Y 4, 600Fq 6, 300Fq 4, 600qu 11, oogq 11, oogq 15, 500Fq
P = L= 1, 300 1, 900 1, 300 3, 400 3, 400 4,700
O R = 3, 300 4, 400 3, 300 7, 600 7,600 11, 000
o= 1 550 750 550 1, 300 1, 300 1, 900
[ 2 550 750 550 1, 300 1, 300 1, 900
No—=V/=® 1A1E 300
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R 4 | 9D L3N D 18NN D 9REMN D L3NG IREN D
120 T 17TRFET | 21FFE T I7TReET | 21FET | 21FET
o rEd 1,300Fq 1,800qu 1,300[1J 3,300[1J 3,300qu 4,600Fq
IFi] 2 1, 300 1, 800 1, 300 3, 300 3,300 4, 600
n £ 650 850 650 1, 500 1, 500 2, 300
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R 4 | 9D L3WE 5 18EE D 9IFN D L3WE 5 9 HFD> B
12FE T 17TRFE T | 21RFE T I7TRFET | 2IFET | 21RFET
FRMA—Y 1,800qu 2,500Pq 1,800Pq 4,400Pq 4,400Pq 6,300Pq
P—7 =1 750 950 750 1, 800 1, 800 2, 600
IFi] 2 1, 100 1, 400 1, 100 2, 600 2, 600 3,900
o= 1 300 400 300 750 750 1, 100
[ 2 400 650 400 1, 100 1, 100 1, 500
No—=V/=® 1A1E 200
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Mo w4 | 9REND L3N D 18NN D 9D D L3NG 9K B

120 T 17TRFET | 21FFE T I7TReET | 21FET | 21FET
Z R 1,400Fq 2,100Fq 1,400[1J 3,600Pq 3,600qu 5,100qu
P—r =1 1, 200 1, 700 1, 200 3, 100 3,100 4, 300
IFi] 2 1, 300 1, 800 1, 300 3,300 3,300 4, 600
fn w1 400 650 400 1,100 1, 100 1, 500
IFi] 2 400 650 400 1, 100 1, 100 1, 500
No—=V/= 1A1E 200
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R 4 | 9D L3R D 18IEDN D IEMN D L3R D 9 REM D
12K £ T 17TRFE T 215 F T 1THEET 21K FE T 2IIFET
ZHMF— =] =] M M =] =]
1 1, 800 2, 400 1, 800 4, 300 4, 300 6, 100
[F) 2 1,900 2, 600 1, 900 4, 600 4, 600 6, 500
P—7 L= 1 1, 400 2,100 1, 400 3, 600 3, 600 5, 100
[F) 2 1, 800 2, 400 1, 800 4, 300 4, 300 6, 100
o= 1 400 650 400 1, 100 1, 100 1, 500
[ 2 300 400 300 750 750 1, 100
= 1TA1[E 200/
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